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% IE_ point & & || & NE | point & & [ & B point & & || & B point & &t | point | Rank
294 [EW [EEA [ NAZRba—RL—3av 0 3 110 | 10 | 120 4 90 10 | 100 15 40 40 260 1
499 |fEE |R 3 110 110 4 90 10 | 100 0 0 210 2
500 |&K KRB |FUFRRUH AL (%) 0 1 150 | 10 | 160 || DNS 1 1 0 161 3
521 |#@)Il |mE |BHE—FEEK 2 130 | 10 | 140 0 0 0 140 4
701 |£F |kt |TUFRRH AL (¥k) 0 13 15 10 25 6 60 10 70 11 40 40 135 5
379 | XEF |[ZEHKBEEESM 0 0 0 135 135 b
151 [#BE |XK% 0 0 9 30 10 | 40 7 80 80 120 7
218 [AB [BX |HBLFEILUKR 0 0 4 120 120 | 120 7
405 |#5K |FNEL [BAREV—(¥) 0 0 115 | 115 9
18 |EZE |#§ |[FEEBETYI/VI21—23a X (#) 0 DNF 11 11 100 | 111 10
354 (lkO  [K#E AL (R) 10 20 20 19 15 10 | 25 18 15 10 | 25 32 20 20 90 11
387 |BEKR | |REBER 0 17 15 10 25 28 10 10 20 22 30 30 75 12
349 | |HER |BRA AR 0 16 15 10 25 0 31 40 40 65 13
400 |BR E YRy (¥R) 7 50 50 0 DNF 11 11 0 61 14
330 |EK |BE #)Ta7no 0 0 0 55 55 15
350 |@&E |ft HA4oLFolavtexvEE 15 15 15 DNF 11 11 20 15 10 25 DNF 1 1 52 16
722 |WE |1B1E 0 8 40 10 50 0 DNS 1 1 51 17
516 [+ A& |EEESK 0 10 20 10 30 24 10 10 20 0 50 18
261 B |BlZ [M)PzAT7— L EBARBERERA 0 0 0 50 50 18
174 (B (&£ |4 H4A9L 0 DNF 11 11 0 23 30 30 41 20
712 |FE O|ER (B EALEILUF 0 0 0 17 40 40 40 21
367 |BHE |EF 14 15 15 DNF 11 11 DNF 11 11 0 37 22
744 |Z=8 |B®E |EmEKE 16 15 15 0 0 39 20 20 35 23
780 |hE |#ES |IEKE 0 DNS 1 1 DNF 11 11 56 20 20 32 24
109 |IUA  |EEA |(BRNTTT—4 0 0 0 30 30 25
143 [/hH [BRB [REZE () 0 0 0 30 30 25
190 (IR (25 [BERH/hiERAASRE 0 0 0 30 30 25
721 |+EF |ER |RRAXE 0 0 11 15 10 25 DNS 1 1 26 28
206 |#%@A |= (B) 18 —ILA X2 0 0 17 15 10 25 0 25 29
805 |EX |HA& |I[BEREKRF 0 0 14 15 10 25 25 29
37 | ZF |RE |(B)LEbLEILUF 0 DNS 1 1 0 42 20 20 21 31
302 |hE |BEx 0 0 DNS 1 1 31 20 20 21 31
755 |@AK |BZ |EWKRFERE 0 0 0 46 20 20 20 33
235 [PF |EE [ERIEXXZE 0 0 0 38 20 20 20 33
747 |EBk | K |BEWKRFRE 0 0 0 40 20 20 20 33
758 |E#E |ER |RWEAKXE 0 0 0 36 20 20 20 33
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781 |EF |[ER |BEBRFERE 0 0 0 59 20 20 20 33
793 |EE |ERR |=EMEHITE G 0 DNS 1 1 34 10 15 || bNGQ 1 1 17 38
295 | RfT |BATAE—ILR &t 0 0 31 10 15 0 15 39
523 |LEiB [1B BAXEE—EK DNF 1 1 DNF 11 11 0 0 12 40
267 [#A [BKRE| (%) BAOVIH—EXR 0 DNF 11 11 0 DNF 1 1 12 40
225 (8RB |SHE (B TLIRE— 0 DNF 11 11 0 0 11 42
299 [#BH# (BN (BWAREERE 0 DNF 11 11 0 0 11 42
264 |B#: |&BzZ |VvhESE (BR) 0 0 DNF 11 11 0 11 42
342 [#K |El [HEBELEARESR 0 0 DNF 11 11 0 11 42
347 |F |XE | () PRERE 0 0 DNF 11 11 0 11 42
557 |XKW |EE |HEXF 0 0 DNF 11 11 0 11 42
710 [#MF [BXEBAXZE DNF 1 1 0 0 0 1 48
718 | KBRA|NE |[BAKFE DNF 1 1 0 0 0 1 48
756 |= Bz |BEWRFERTE 0 0 0 DNF 1 1 1 48
757 |l |#BE |EBRFERE 0 0 0 DNF 1 1 1 48
112 [[IAX [RE |TUFRAHAOIILEBRERSE 0 0 0 DNS 1 1 1 48
124 |fEs  [EAN 0 0 0 DNS 1 1 1 48
199 |(HHE [H#MEB |[ERRXE 0 0 0 DNF 1 1 1 48
222 |BX |EFEHR |(B)T4vT 0 0 0 DNF 1 1 1 48
237 |HE | BAILD R (%) 0 0 0 DNS 1 1 1 48
239 |A B [B2ILE 0 0 0 DNF 1 1 1 48
259 |WF 1B |FUREBEREBEZHREHEM 0 0 0 1 1 1 48
318 [AR [BR (K32 F+—X 0 0 0 DNF 1 1 1 48
322 |WWA |ER |ZXT—F—-RF—)LtEi— 0 0 0 DNF 1 1 1 48
332 MW iR 0 0 0 DNF 1 1 1 48
343 |FREH |ZiE |BIKESHOP SNEL 0 0 0 1 1 1 48
352 |ME |Z= 0 0 0 DNF 1 1 1 48
364 |/ [ER |RBLFEILUKR 0 0 0 DNF 1 1 1 48
370 |@FT [HBIE |BZEEW 0 0 0 1 1 1 48
372 |8RE |Z=AI (BB </ 0 0 0 DNS 1 1 1 48
382 |ET |ER INTTVILO 0 0 0 DNF 1 1 1 48
416 |&W |R— [BF>F+—X 0 0 0 1 1 1 48
507 [AF [BIK [EREBIL/NEFREEKR 0 0 0 DNF 1 1 1 48
74 |BiE |BX [EBRXE 0 0 0 DNF 1 1 1 48
761 |E£H |RE |KREREEKFE 0 0 0 DNF 1 1 1 48
764 |BEX |BE |KRERIZEXRF 0 0 0 DNS 1 1 1 48




